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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-II Examinations, 2017

HISTORY-HONOURS
PAPER-HISA-III

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. : SNEF FTNT FYZ AN Aff1 et P 1
Candidates should answer in their own words AT (NS ©IT T TG ST VY
and adhere to the word limit as practicable. e P9

Answer Question No. 1 and any four from the rest
SR @l G SRMHE (F-(PIA! BTG &itea Tz wie
Group-A
Remt-w |
1. Answer any four questions from the following: 5x4 =20
fAsfeie @-cona 1Al eivas Tex nes
(a) How would you assess Abul Fazl as a historian?
2feq R fZ oge o g Foi Jenm- 33 ¢
(b) Was Din-i-Ilahi a new religion?
79-2-211R) 1 gt o e 9
(c) What do you understand by the ‘Deccan Ulcer’?
wifEFe; e’ FeTce Ol [ i ¢

(d) What was the view of the Aligarh group of historians about the Mughal
State? ‘

IR A 7o wiferse @ feaifEema we & 9
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(e) Explain the meanings of the terms ‘Khalisa’, ‘Jagir’ and ‘Paibaqi’.
AR, TN @R ANEAR = ol e o
(f) Discuss the significance of the Battle of Buxar.
TIER oA Ol s 6
(g) What does the word ‘deindustrialization’ mean?
SREER 00 [ @A ¢
(h) What is Orientalism?
AEm e

Group-B
o4
Answer any four questions from the following 20x4 =80

fSefeRe @-@at 51aff 2eex ez e

2. Analyze the nature of Akbar’s Rajput policy. How could you explain the 10+10
difference between the Rajput Policy of Akbar and Aurangzeb?

WG AT Ao 2Ffe [age FEN AFIA ¢ WGTHS(IR AG=S Aod
AL QW O I T4 9

3. Trace the evolution of the Mansabdari System from Akbar to Aurangzeb. 20
R (ATF HNSFHEA #/48 Tamial 5 RIS Sl el

4. What do you understand by the Jagirdari crisis? To what extent was it 10+10
responsible for the decay of the Mughal Empire?

TR PG L0 & QN 9 YTe AT HIHCIA &) 93 FRI6 FO6] Wi
st 9
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What is meant by ‘Karkhana’ in Mughal India? Explain in this connection,
the role of the artisans in non-agricultural production in Mughal India.

T RS TR T [ Q@RI ¢ @7 &R I ©RCOT - AW
Fifaerwa il Resze e

Discuss the characteristics of the Maratha administrative system under
Shivaji.

Ww@mwmwmﬁwmu

What is meant by the ‘Grant of Diwani’ in 17657 Analyse its significance.
sqve FPB Fredia e s [ @I 2 97 Siesd S FCEl

Why did Lord Cornwallis introduce the Permanent Settlement in Bengal?
Discuss its 1mpact upon the agrarian society.

a@ascf@m%ﬂmwmmﬁmwwmﬁﬂw@ﬂamm
S I

Assess the role of the Young Bengal in the regeneration of Bengal.
QRN TGN FICIRHCETR BT S T

Do you think that the reforms of Lord William Bentinck were influenced by
the utilitarian ideas?

gﬁﬁsmmmaﬁﬁﬁmmmﬁﬁwﬁwmawmﬁwm@m
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B.A. Honours PART-II Examinations, 2017

HISTORY-HONOURS

PAPER-HISA-IV

Time Allotted: 4 Hours ~ Full Marks: 100
The figures in the margin indicate full marks. oNfeF Fia v KT ‘2"7377? [ 1
Candidates should answer in their own words NI [Aers ©IFIT I ST NFRT Tl

and adhere to the word limit as practicable. 7 IR

Answer Question No. 1 and any four from the rest
SR 2 TR SRRE (F-(FIA! 515 Ares T e
Group-A ‘
o5
1. Answer any four questions from the following: 5x4 =20
fsfeiRe -ctet o1l eivan Tew wies
(a) What is meant by manorialism?

WS 22t 70 6 @I 9

(b) What was the impact of the ‘Black Death’ on European economy?
TN N7 Tz Fregg’-3 afefen & & ¢

(c) What do you mean by the “Military Revolution” in early modern Europe?

iy TR Sifwsird i [Rew o0 76 @i 2

(d) Write a note on Erasmus as a key figure in Northern Humanism.

TG VAN TS 2{R14] ZARTIN 71 a3 Bt el |
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Was the Levellers really democratic?
ErsaRR & 7 sereifas freere o

Why did Amsterdam emerge as the most important financial centre in the
17th Century Europe?

ﬂwwmﬁmﬁﬁw@wwﬂﬁwﬁ%mw
wiRge 2rafes ¢

What was Galileo’s contribution to modern science?

Wiy e smfefees sawi & fret o

How did Locke define the nature of an ideal government?

& el 936 S FAPIEE TR (0] SRR 2

Group-B
omt-4
Answer any four questions from the following 20x4 =80
fAfefRe - o1afs avss Ted wie
Internal contradictions or long distance trade — Which one was mainly 20

responsible for the fall of Feudalism in Western Europe?

wrereRle FRCA A YEEE ey — AT TS TGS 2RO Tl (10
N i et 9

What do you mean by ‘Price Revolution’? What was its impact on 16th 8+12
Century European economy and society?

ey Rz W%@W?Wﬁwmﬂaw@%@w%ﬂam%
el fas 9

Describe the varied activities of the merchants in the 16th Century. How did 12+8
they begin to control artisanal production?

e *rers e Rivg axfeited »ikeT wie ) ot Fer FifeRma Teotma
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Make an assessment of the contribution of Martin Luther to the relative
success of the reformation in Germany.

TR SR

Would you agree with G. R. Elton that the English reformation was
primarily an act of the State? '

f&. wia. @ioe sex il B e @ Heeen e SiewE e e «3 b
AT T 9

Analyse the character of Tudor Monarchy founded by Henry VII of
England.

BT 7 (TR TS aAfofde Bowe arerera vfag Ress e

What were the features of the Empire of Charles V? How do you react to the
view that in his time “the idea of empire was a myth”?

BN FIECR AENEHR [@RSed &F et ¢ ol W “onaera qiwen aolb e
Tl f2e” — @3 I T (o e fF o

What do you mean by “Scientific Revolution”? How far did it contribute to
the Secularization of European mind?

@ Reg To0e & @R ¢ osFaT 3T wiffageers b s «fb
O 7T 2R ¢

Analyse the nature of the English Civil War.
IR J2YCAR &S Reawe S|
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